PUfIE (GREME)

Ss=1.10

PU500%700

125 500 125

: L]
o
2
> ! BEILEIL
N |
Q HERR
(=]
e i:%%%%?E%%%%?E%%%%
50‘ 530 ‘50
Mo X (1O0mdmbt=Y)
% £ 3 % B O | # = i =z
{1 i PUS500%700 PN 5. 0
avyy—+r=E PC4—-—500 54 17. 8
JL—F U5 E 54 2.0
BELEIL 1 3 m3 0. 106
3
x= B B =5 RC—40 m 0. 630
3
1= Hil m
3
pr::} =3 m
2
K #3 L m
B o+ @ ® -
PUGRIE GFE/E) s=1-10
PU500*%*x1100
125 500 125
[
h ‘\\ , J
o
e
S ' BWELSIL
N |
o
e

|50] 540 |50]

PURIE CGRBRAIE) s=1.-10
PUS500%x800
125 500 125
‘ [
‘IE‘\'_) ‘\\
| [
o
2 [
[
S ! BEILSZIL
N |
~N HBERA
o
50‘ 530 ‘50
® o# X (1ToOmdbf=Y)
% {71 # % Liva = i =
{1 b PU500%*800 VN 0
a9 U—+E PC4—-500 b4 8
JgL—F o5& " 0
BELEIL 1 3 m3 106
3
x= B B " RC—40 m 630
3
b Hl m
3
pr::} R m
2
K #3 L m
B O+ @ om -
# M % (1o0om®bf=Y)
% {71 i i iz = # =
{1 b PU500%1100 V. 0]
vy Yy—+&E PC4—-500 " 8
JUL—FUTE " 0
HELAL 1 3 m3 108
3
2 B B A RC—40 m 6 40
3
1 Hll m
3
b} = m
2
K 15 L m
B ot o ®m -

PURIE GRBAIE) s=1-10
PUS500*%*x900
125 500 125
‘ |
g ‘\\
| [
|
|
|
o
=3
|
|
|
3 ' BEJLAI
N |
o
e
50‘ 530 ‘50
MO X (1TOomdmf=Y)
% b iR 1% B | # = i =
a1 b PU500%900 A 5. 0
av4yy—+r%E |PC4—-500 ® 17.
JL—F U5 E L34 2. 0
BELEIL 1 3 m3 0. 106
3
2 B OB A RC—40 m 0. 630
3
i Hl m
3
pr::} R m
2
K #B L m
B O+ @ = -
PURIE (GFEME) s=1-10
PUS500x1200
125 500 125
|
o
S.
3 ! BELZL
0N |
I EBERA
o
50| 550 |50

PUfIE CGREME) s=1.10
PUS500*x 1000
125 500 125
‘ [
SL(\I: ‘\\
, [
o
o
<
? I BELEZIL
N |
N EHBA
o
|50] 540 |50]
Mo X (1o0mdqmt=Y)
£ |38 % B i | # £ i =B
{1 & PU5S00%1000 X 5. 0
avyy—t+=E PC4—-—500 54 17. 8
SL—Fv5E o4 2. 0
BELEIL 1 3 m3 0. 108
3
2 B B A RC—40 m 0. 640
3
1 ]| m
3
18 R m
2
K #B L m
B o+ o om -
Oo# = (1TombptrY)
4 R 1% B i | % S it =
{81 b PU500%1200 X 5. 0
avyy—+E PC4—-500 ® 17. 8
JL—F oo E ® 2.0
BELEIL 1 3 m3 0. 110
3
x B OB A RC—40 m 0. 650
3
1 ]| m
3
b} = m
2
K 3 L m
B Ot o ®m -




